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Chapter 3 Test Practice

1. Tickets for a spaghetti dinner cost $4 for children and $6 for adults. The
equation 4x + 6y = 36 represents the number of children x and adults y who
can eat at the dinner for $36. If no children are eating at the dinner, how

many adults can eat for $367 x= O CO )y (;/ ot d &
=y , i Ly =26
2. If (a. 9) is a solution to the equation —4a = b — 21, what is a?\ el =
"/" o /‘; / "?.} ,; #/1 9 = ’/)/‘ \J'/_*_ e _C,
3. What is the slope of the line through 1, . 3)and (6 3 e /s
/ - - 7 _ o= v i \/ =
S l(-'r‘/’ o 'f) — v J s vl ‘f:
4. Which equatlon is a linear equation?
Adm*=6 C%xy—;yzo
B3a+56=3 Dx*+3)2=0

%Y, A Yy

5. What is the slope of the line through (3, 5) and (3, 6)‘.5/
7 =Y, &< /
A z — T i

X
6. In 197” federal veﬁlcle emlss%n Standatds allowed 3 4thydloca1 bons
released per mile driven. By 2007, the standards allowed only 0’8 hydrocarbons
per mile dri wen What was the rate of change from 1972 to 2007?
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7. Which graph has a slope of =37 e £$0O g
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8. Suppose y varies directly as x, and y = 26 when x = 8. Find x when y = 65.
Voelbex ; 28~ (8) L 2265 < /5,
9. [f a shark can swim 27 miles in 9 hours, how many miles will it swim in
12 hours? L7 " e iy
i o™ P
- = E R ‘7’~—/_/< |
Goy  Y=3(72)

For Questions 10 and 11, use the table below that shows the amount of
gasoline a car consumes for different distances driven.

Distance (mi) 1 2 3 4 )

Gasoline (gal) 0.04 0.08 0.12 0.16 0.20

10. Write an equation in function notation for the relationship between
distance and gasoline used.

11. How many gallons will the car consume after driving for 15 miles?
gd()s, 55
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Chapter 3 Test Practice (continued)

12. Find the function that represents the relationship. ' 12.
Fy=38x Hy=14x+8
Gy=8x+14 Jy=14x+14 x |0 ] 1]2]3]4
y | 14122130 | 38 | 46

For Questions 13 and 14, use the relation shown in the table. Iy = x +b

fz %) ’/} ({]ﬁ(})(/)r}?
=

13. Which equation describes this relationship? X ] 4 = 13 U
A flx)=2x CAx)y=2x+1 . 1 5
! T R
BAx)=x-1 DAx)=3x+2 & 5 g | = 03
14. What is the value of y when x = 172 3 11
4 | 14
FCx)=F .2 17
7)) =8y y+2. < §7 #2253
For Questions 15 and 16, use the graph shown. Y 11 )
15. Which line is a vertical line? e 15. ~
At & EINLATY | -
Bp D none Ao
16. Which line is the graph of y = 2x + 47 E// /é
F( H the x-axis D 16.
Gp Jt ¥

17. What is the standard form of y - 2 = é(x + 5)? o
i} _ e 17.
36"*‘1}/32\*57})3/;? (’X%SZ o
| > S i T AP R {
18. Determine whether the sequence —10, -7, —4, —1, . . . is an arithmetic f-—”:_;f— :
sequence. Write yes or no. If so, state the common difference. e R

f/__‘i':y Conmm a1 O/f’v[/ﬂfz;hfg’ 24 —3. 19. /“/’
VY

. . . b f
19. Which is an equation for the nth term of the sequence 12, 15, 18, 21, ... .?

Fa,=3n+9 Yz, +(nd)of Ha, =12n+3 C?’::; Jf
== + -
Ga,=9%+3 T”Z*‘}(W#)(B’) Ja,=n+3 20.
=il 2. o = - ;
20. Write an equation in function e AN o L) /
notation for the relation at the right. T
F flx) = 2x Hin=1-x Pt -
GfAixy=x+1 JAx)=-x O X
/\, ; =T 1 B:
T :
et \\ i 5_: &
Bonus who knowsg...?
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